
𝜃௥: the "reference angle"is the angle between the terminal arm and the 𝑥-axis .

𝜃௦௧௣: the "angle in standard position" from the principal axis (+ x-axis) to the terminal arm.
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𝜃௖௢௧: the "co-terminal angle"is any angle with the same terminal arm.
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𝜃௚௘௡: the "general solution"is all angles with the same terminal arm.
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You may need to add or subtract 2𝜋 more than once.
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Basic logic will calculate 𝜃௦௧௣ 𝑎𝑛𝑑 𝜃௥ much more easily than using these formulas. 

C12 - 4.2 - ௦௧௣ ௖௢௧ ௚௘௡ Notes

   Trig Page 2    


